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	Sharing objects into equal groups
	Children can use a variety of equipment and share them into equal groups.  
When sharing, they know how many groups there are and the aim is to work out how many objects to place in each group.
They begin to understand that having equal group means they all have the same number of objects.  
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	Children are able to draw pictures of sharing objects equally, finding out how many objects are in each group.  
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	Children can write the number sentences that correspond to a representation of sharing into equal groups.  They are able to explain each part of the number sentence and where to find it in their representation.  

18 ÷ 3 = 6

18 is the total number of objects to be shared.
3 is the number of groups
6 is the number of objects in each group.  


	Division as grouping
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	When sharing objects children know how objects make an equal group and have the aim of working out how many groups they need.  

They use a variety of equipment to represent their findings.  
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	Children can draw a pictorial representation of how to divide through grouping, working out how many groups they need.  











[image: bar_model_division[1]]They can use the bar model to represent grouping.
	Children can represent grouping through division number sentences.  


Divide 28 into 7 groups. How many are in each group? 

28 ÷ 7 = 4

28 is the number of objects
7 is the number of groups
4 is the number of objects in the group.

	Division within arrays
	Children can use the equipment to create an array and discuss what number sentences they can see.  They can make sure all their rows and groups are equal.  
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	Children can draw their own arrays and discuss the columns and groups, knowing they need to be equal. They can make a fact family of multiplication and division facts that the array shows. 
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	Children understand the link between division and multiplication and can describe their understanding of inverse.  They can create fact families of related facts and explain the link between them. 

4 x 8 = 32
8 x 4 = 32
32 ÷ 4 = 8
32 ÷ 8 = 4 


















	Long Division
	Children use the base 10 or the place value counters to represent a division fact.  They begin to regroup the objects in order to create equal groups.  
	Children can draw a part part whole model to represent division.  They understand the need to repartition the number and they need to divide each part before recombining to find the answer.
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80 ÷ 8 = 10
16 ÷ 8 = 2
10 + 2 = 12

96 ÷ 8 = 12
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	Children use the equipment alongside the written method to help aid their understanding.
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They progress this to dividing by a two digit number
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